£ Uik =1+2+12

‘ (Bt |
B A
100 Wi-+02+56 100
2% (i § W2 2%
P=100
1 N —-®
i
YKK APHRAE /N> KL (B875 L)
TvY 1T IVEEE | I
11 11
— %1% s L= i
- 11 11
% = S = ] el //® : 1] S H 1
* |8 SV DL E SyFRIE Ty a TR
- BEEH0BE
+H+ BESEURIRBFE
] ), /4 L
< 3
0: BEHY Gl S - I
BHE—% " gEnL - v
W1, W2 (FetE) [mm] =
HESE) (] | 800 900 1000 1100 e
1400 0 0 0 0 B &
1800 0 0 0 0 :
B [ b |
p >
[m§
& =
J MERYAZ-F ($%) BIEHHME-E o
N | PR S ] | e 21 v 5=y [mn] M EE (EHIMF : 100K TELHH HE \ FELE |
- " TSt | anAmeEHE Pk h[mn] bmn] d[mn] @ Mg FLIZHLEE BHMBERLEEEAHE @
1400 1500 100/ 450 350 360 Q@ MEAh | 7AIZVLAAE BEpBERILEEEAEE
1600 1700 900 600 600 @
1800 1900 @
'EEE ] BHEE $I$% % W & |®E %% R/E R & YHK
® I EWYsKK ’%ﬁﬁfflf%ﬁx%ﬁ%ﬁﬁﬁ%/#ﬁ?ﬁﬁ A‘;‘/:’b‘ﬂjﬁ A B BLEE ap
B i?ﬁﬁ?affa mrsgﬁzvﬁqu%imﬁtfwﬁ%&bw / HME-B140 ® jET-A1




